goon

Oooon 00 00 00
(Physical Chemistry B) OO0 0000
000 000 |[00D00|000 | 000

gbooobgooobobD|1iob oo oo 1.500 g

oooo
gbobobooobooboboboooboobobobobooobobobooboboboboooboan
oobooboobooooooooooooboooooooooooobobOOobobOoobOOoobOoOonn
gboboobooooobobobooboboboboboooboboboobooboboboooboon
gbobooboooboboboboobooobobobobooooobobooooaon
gbooobOobooooobooboooobooboooobooboooooboOobooooooyooooboon
goobor7oobobooobDoon

pbooooooon
gboobgoboooobooboboboobooboboboboooboboboobooboboboooboon
gboboobooboobaoboboboboobobuoboboooboboboobooboboboooboan
ooboobooooobooooooon

gboboboooooboboboboridbr2

I000O0(@O000)0
00000000000 000000000000000000000000000000000000
0100000000000000000000

oboobooooOoOooobogooossounnon

No = I ooooooo seodO0O
1000000 000 |000O0O00000O00000O000000 C1-(2)-0-1,2,3
2 |00o000o 000 |000O0O000000000000000000 C1-(2)-0-1
C1-(2)-0 -2
3|00O000o R EEEEEEEEEEEEEEEEEEEEEEE C1-(2)-0 -2
00000000000000000 C1-(2)-0 -2
4000000 000 |000000000000000000000 C1-(2)-0 -2
5000000 000 |0000O0000O0O000000O000O000 C1-(2)-0 -2
60000 000 |000000000000000000000000000 C1-(2)-0-2,3,4
70000000000 000 |00000000000000000000 C1-(2)-0-1
80000 00 |000O00O0000O000000000000000000000]|C1-(2)-0-1,2
9 00000 00 |000O000000000000000000000000 C1-(2)-0 -3,4
10|0000 000 |00000000000000 E5-(1)-0 -1
110000 000 |000O0O00o00O0O00000 E5-(1)-0 -1
12000000 N EEEEEEEEEEEEEEE E5-(1)-0 -2
13|00000 000 |0000O00000000000000000000 E5-(1)-0 -3
E5-(1)-0 -3
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